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1. >>> data=np. ones(shape=5)
>>> data[ 4] =3

>>> print( data)

array([1., 1., 1., 1., 3. ])

2. >>> data = np. zeros( (3, 3))
>>> print( data)
array([ [0., 0., 0. ],

[0.,0.,0.],

[0.,0.,0.1])
>>> print( ‘ %d bytes’ % ( data. size * data. itemsize ) )
72 bytes

3. >>> np. arange(6, 37)
array([ 6,7, 8,9, 10, 11, 12, 13, 14, 15, 16, 17, 18, 19, 20, 21, 22, 23, 24, 25,
26, 27, 28, 29, 30, 31, 32, 33, 34, 35, 36])

4.>>> data = np. empty( (3, 3))

>>> print( data)

array ([ [ 0.00000000e+000, 0. 00000000e+000, 0. 00000000e+000] ,
[ 0.00000000e+000, 0.00000000e+000, 4.78255545¢-321]
[ 1.62122812e-086, —1.82703838e—311, 6.52127111e-095

>>> print( data. dtype. name )

float64

1D

5. >>> data = np. random. random( (3, 3))

>>>datamin, datamax= data. min( ), data. max()

>>> print( data)

array ([ [ 0. 98106899, 0.68464983, 0.43050183 ],
[0.74510984, 0.57620886, 0.48391251],
[0. 13327387, 0.33302911, 0.82532384] ])

>>> print( datamin, datamax)

0. 13327387178172 0. 9810689942444079

6. >>> data=np. arange(5)



>>> print( data)
[01234]

>>> data=data[ ; ;: —1]
>>> print( data)
[(43210]

7. >>> data=np. arange( 16). reshape(4, 4)
>>> print( data)
([0 1 2 3]
[4 5 6 7]
(8 9 10 11]
[12 13 14 15]]
>>> print(data[2, 0]) //FRBUER = AT5— 5 B
8
>>> print(data 2, 1])//3RBUE =475 5 EHE
9

8. >>> data=np. arange( 16). reshape(4, 4)
>>> print(datal ; 2, 1: 3])
[[1 2]
[5 6]]

9. >>> arrl =np. arange(8) . reshape(2, 2, 2)
>>> print(arrl )
([0 1]

[2 3]]

[[4 5]
(6 711]
>>> print( np. sqrt(arrl) )

[[[o. L. ]
[1.41421356 1.73205081] ]

[[2. 2.23606798 ]
[2.44948974 2.64575131]] ]

>>>arr2 =np. arange( -2, 6). reshape(2, 2, 2)
>>> print(arr2)



[[[-2-1]
[0 1]]

([2 3]

[4 5]1]
>>> print( np. square (arr2) )
[[[4 1]

[0 1]]

(L[4 9]
[1625]]]
>>> print( np. append (arrl , arr2) )
[01 2 3 45 6 7 -2 -101 2 3 4 5]
10. >>> arrl = np. random. random( [3, 3] )
>>> print(arrl )
[ [0.37547457 0.38921484 0.1632189 ]
[0.4627367 0.5782657 0.11194791 ]
[0.29548517 0.37633842 0.02405697] ]
>>>arr2 =np. random. randint(50, 100, (3, 3))
>>> print(arr2)
[[82 89 62]
[83 92 76]
(96 75 937]
>>> print(' PN ARIN ", np. add(arrl, arr2))
PO AR N . [ [82.37547457 89.38921484 62.1632189 |
[83.4627367 92.5782657 76.11194791 ]
[96.29548517 75.37633842 93.02405697 ] ]
>>> print (' PP EEHAANE ", np. multiply (arrl, arr2))
WS BAHSRE . [ [30. 78891451  34. 64012094 10. 11957173 ]
[38.407146 53.200444 8. 50804084 ]
[ 28.36657654 28.22538135 2.23729857] ]
1L 042,175
12. W 4.2.275
13,4 WAL 7 sUE S ol | Ak . )Rk,
14, TR R 2 1) ERAMATFMAR | BRZE OWZ | BE R | 2R LU
=,
15. TEEJRE K, JEZ B 2 B 28 W 2% 1) A — 2 By B A9 418 18] (feature map ) I 4%
TR AR WS B XN, TERITRAE R, SRSz B A AU 28 0 248 4 — 2 g Y )4

3



T (feature map) bR Z S AE L — 2B H KRN, B4R Uk, B2 RR R B —A
G 55X IO i A AR DX

16. 1%

17. 00 4.3.3 97, 4.3.5

18. W 4.3.4 5

19. STEEBMLE (FCN) TR REHR I, AT BRI patch, MG T iR ITR,
U-Net #377F FCN (RS L, (HE s & R B4R — ZR 1 LR A2 R A 5 SRR 4
RS> BRI IR, U-Net VHE DR IS 552 B AN W) J2 U 0 R AF 3 3 B Bk, IF
FEY TR EAR 1 55 J5 — 1 B B TR a3 0 A e & o B

20. I



